www.shrolltech.com

/..’

() 0tu|ASHI A

SAZ Al AR GEOE 1348812 17
(051) 304-8500~2

(051) 304-8503

apisroll@naver.com

A.
T.
F.
E.







APIS ROLLTECH

(F)otL| A SH A HEF M dut ChFdez
20|18, oy 822 FAe] f7IE2Z0 =20 & =5 St
EHME IE 7|A7IEES $5°t0 8|S L L

()OI A EH 3 CHEO|AI MEA

www.shrolltech.com



APIS ROLLTECH

: L '
e .%| - -8
I L 1
I 1 |l
W Il | ‘
.l i- i i \“ ! 1'1 1
| |
| I W ! 1 1
] o __‘\'1__ e (]
() - \ M 8 €
i\ l
A\ !
" |
'.— !
Carrier roller 74z/0122 unit=mm
dimension bearing weight
L A | No. kg)
400 145 175 153 2.08
450 165 195 173 2.3
500 o 180 | 210 188 25
600 ’ 210 240 218 2.7
650 5 230 260 @ 238 . " " — 29
700 250 280 258 3.2
750 265 295 | 273 39
800 vids 280 310 @ 288 41
Q00 315 345 323 4.4
1000 345 = 375 | 353 48
1050 370 410 380 6.7
1100 . - 385 | 425 | 395 " — 6.9
1200 420 460 430 75
1300 460 | 500 | 470 83
1400 500 540 510 11 15 11.1
1500 30 540 580 | 550 22 62062z 123
1600 S 580 620 | 590 141
1800 ' 650 690 | 660 17.1
7
2000 = 730 770 | 740 & Gediz 189
2200 40 800 840 | 810 31 62082z 222

7 HE2 L AAT ZliFAE M55 HEE L CH

www.shrolltech.com




APIS ROLLTECH

Return roller zj=1z3 unit=mm
L A No. (kg)
400 460 505 | 480 5.1
450 510 = 555 = 530 56
500 . 560 605 = 580 6.1
600 ‘ 660 705 = 680 69
650 710 755 = 730 72
20 8 125 14 6204
700 760 805 780 # 78
750 850 = 905 = 880 12
800 1143 900 = 955 = 930 117
900 ' 1000 1055 = 1030 12.1
1000 1100 1155 = 1130 132
1050 1150 1215 = 1180 179
1100 1200 1265 = 1230 185
1200 1398 2 a0 1385 1330 18 getoe 20.1
1300 1400 1465 = 1430 226
1400 1510 | 1585 | 1550 e 29 1
1500 30 1610 = 1685 | 1650 ' 22 62062z 311
1600 . 1710 | 1785 | 1750 323
1800 . | 2000 2075 | 2040 e 20722 498
2000 2200 2275 | 2240 54.2
2200 40 | 2400 2475 2440 31 620812 66.2

7 HE2 L AAT ZliFAE M55 HEE L CH

www.shrolltech.com




APIS ROLLTECH

(=]
3
olmE= .
Impact roller o===2 unit=mm
i i bearing
_ , No.
400 145 175 153
450 165 195 173
90 763
500 180 210 188
20 8 1 14 6204
600 210 240 218 “
750 265 295 273
900 U s 315 345 323
1050 370 410 380
140 | 1143 | 25 18 6205
1200 420 460 430 e
1400 500 540 510
30 1.2 15 224 6206
1600 66 | 1398 580 620 590 “
1800 : e 650 690 660 - e
2000 730 770 740

A7 MBS L AT ZEFAIH M55 MEE L

L3 L1
L2 I

Guide roller 7toj==2 unit=mm

dimension bearing

_ No.
A00W~500W 60.5 120 195 50 1.8

600W~900W 76.3 20 120 195 50 M16 6204zz 2.0
1050-2400 89.1 120 195 50 2.3

14 2 F52 FEHE 7L

d

www.shrolltech.com




APIS ROLLTECH

W& E 2etshs 00 M2
HES X|X|gLct,

HESHHL 205, 30% 8l 4522 T
ZHL CHE 20|29 roll FEELICE

return® belt2| X520 K| K|St
Bt219| return roller® 49 5|0 24&L|C)

Carrying&Return Idler szaz|= ofojszf hili=ib
belt dimension total
iz BOLT| Angle |weight
width :
30° (kg)

365 129

450 | o, | 165 | 740 | 690 125 | 140 | 190 230 | 245 | 290 | 525 | 490 | 415 L50xT6 | 137
s00 | 21 180 | 790 | 740 235 | 250 | 300 | 570 | 535 450 154
260 280 @ 340 660 615 530 189

600 210 890 B840 140 150 200 280 | 305 | 360 | 650 620 | 560 | M12 L65xTE 205
750 1143 265 1090 1040 320 | 325 | 395 810 750 | 645 254
a00 315 1240 | 1190 150 | 160 | 210 320 345 @ 430 950 890 @765 L75xTé 283
1050 370 1390 1340 385 411 | 515 1140 1055 910 437
1200 1398 420 1520 1490 180 | 180 230 001435 | 550 | 1280 | 1195 | 1030 LT 477
1400 500 1790 1730 510 | 550 | 690 | 1515 1435 1235 o 849
1600 580 1990 1930 250 | 280 | 340 540 | 585 | 750 | 1745 1650 1430 M16 L100=T10 935
1800 1652 650 | 2280 2220 o 590 | 645 | 830 | 1950 1825 1605 1303
2000 730 | 2480 2420 330 | 390 620 | 680 | 885 | 2180 2040 1800 L130xT12 1428
2200 800 2680 2620 3200 665 @ 730 @ 955 2380 2235 1970 M20 165.3

dimension : :
belt total weight (ka)

width -
Plain

400 460 690 &40 7.2 9.0 11.8
450 510 740 690 75 92 | 124
500 89.1 90 903 560 790 740 79 98 12.8

110 60 120 86 106 13.9
600 660 850 840 80 M12 11.0 13.0 17.2
750 1143 115 1151 850 1090 1040 131 | 157 | 209
900 1000 1240 1190 146 16.9 22.7
1050 1150 1390 1340 233 29.0 357
1200 | o8 | 140 | 1403 6617540 1490] "0 [ 100 | 170 253 | 312 | 387
1400 1510 1790 1730 356 45.0 554
1600 1710 1990 1930 390 48.8 61.0
1800 1652 | 166 | 1658 @ 2000 2280 2220 100 | 1201200 1 g5 @ MI6 ot 609 | 722
2000 2200 2480 2420 526 | 656 | 779
2200 2400 2680 2620 180 150 @ 230 M20 6£8.0 82.0 954

7| 14 @ F2KH|E 7HsELICt (CEMA, DIN 714 7ts)

www.shrolltech.com




APIS ROLLTECH

| Z BOLT
|.l- m -l.] || nl ||
i M L] L b1 L]
A AFOIM 522 E510] RE Y EBE Eusin, £3] £3 2 o2t RAHE 20| 24 2 I AHZ gL
Impact Idler == ooz unit=mm

dimension

400 145 @ 690 640 225 | 235 275 470 435 365 14.7
450 90 165 740 690 125 140 190 | 230 @ 245 290 525 @ 490 @ 415 L50xT6 15.8
500 180 | 790 @ 740 235 | 250 300 @ 570 535 450 16.6
260 280 340 660 615 530 20.8
600 210 890 840 140 150 200 M12  L&5xT6
280 | 305 360 @ 650 620 560 217
750 115 | 265 1090 1040 320 | 325 395 810 750 645 235
150 160 @ 210 L75xTe
900 315 1240 1190 320 | 345 430 950 890 765 28.8
1 T 1 134 41 1 1140 1 1 .2
050 140 370 | 1390 1340 180 | 180 | 230 385 515 0 1055 910 L9OXT7 33
1200 420 1540 1490 400 @ 435 550 1280 1195 1030 509
1400 500 1790 1730 510 | 550 @ 690 @ 1515 1435 1235 558
250 280 340 L100=T10
1600 580 1990 1930 540 @ 585 750 1745 1650 1430 M16 97.2
1800 166 | 650 2280 2220 280 590 @ 645 830 1950 1825 1605 106.8
2000 730 2480 2420 330 | 390 620 680 885 2180 2040 1800 L130=T12 145.7
2200 800 2680 2620 300 665 | 730 955 2380 2235 1970 M20 158.5

47| 72 o FEX|Z JH5BHLICE (CEMA, DIN F247Hs)

www.shrolltech.com




APIS ROLLTECH

: L ,
| | u
&) p .
-]
o
~N
Z BOLT

m
L

unit=mm

400 145 = 690 @ 640 225 470 15.2
450 89.1 165 740 | 690 125 140 190 230 525 L50xT6 16.1
500 ' 180 790 @ 740 235 570 16.8
260 660 19.8
600 210 890 840 140 150 @ 200 M12 L65xT6
280 650 25.0
750 1143 265 1090 1040 320 810 26.2
150 160 = 210 L75xT6
900 315 1240 1190 320 950 29.7
1050 370 1390 1340 385 1140 40.2
139.8 180 180 @ 230 L90x=T7
1200 420 | 1540 1490 400 1280 52.4
1400 500 1790 1730 510 1515 775
250 280 @ 340 L100xT10
1600 580 @ 1990 1930 540 1745 M16 99.2
1800 165.2 650 2280 2220 280 590 1950 119.2
2000 730 @ 2480 2420 330 390 620 2180 L130xT12 1344
2200 800 @ 2680 2620 300 665 2380 M20 167.5

&7 4 2 FEME tse UL (CEMA, DIN #47ts)

www.shrolltech.com




APIS ROLLTECH

L o Belt Direction “_r_"l T
. 8
S 3'
| = = GD (Guide Roller)
L]
BE0S5
- Ty
= | [} j [} i l ] / B 6?5-3
. - e @89.1

support roller
belt width: 1400-2200 ONLY

GD (Guide Roller)
@605

@763
289.1

unit=mm

total weight

(ka)

450 89.1 165 352 740 690 135 140 190 29.7
500 ’ 180 362 790 740 150 31.3
36.1

600 210 395 890 840 150 150 200 M12 39.5
750 114.3 265 427 1090 1040 53.2
900 315 449 1240 1190 160 160 210 180 58.6
1050 370 474 1390 1340 79.4
1200 139.8 420 545 1540 1490 190 180 230 85.1
1400 500 570 1790 1730 158.5
1600 580 676 1990 1930 260 280 340 M16 178.6
1800 165.2 &50 709 2280 2220 590 250 211.2
2000 730 771 2480 2420 330 390 226.9
2200 300 801 2680 2620 310 M20 267.2

belt dimension total weight

width ] A . - (ka)
400 460 690 640 293
450 510 740 690 310 304
500 81 “Se0 790 | 740 120 1 459 315
100 60 355

600 660 890 840 320 M12 37 1
750 114.3 850 1090 1040 357 140 44 5
900 1000 1240 1190 180 573
1050 1150 1380 1340 75.2
1200 1398 1300 1540 1490 390 120 100 130 79.7
1400 1510 17390 1730 520 140.3
1600 1710 1980 1930 152.9
1800 165.2 2000 2280 2220 522 130 120 220 250 M16 186.1
2000 2200 2480 2420 542 199.7
2200 2400 2680 2620 620 170 150 230 M20 234.6

&7 A 2 FEHE JFsE LI (CEMA, DIN #37}HS)

www.shrolltech.com




APIS ROLLTECH

400 460 690 640 6.4
450 | oo, | 510 740 | 690 125 | o | 140 190 6.8
500 1 560 790 740 73
600 660 890 840 90 10 150 60 200 120 |43 6 145 ygeo5 g2
750 850 1090 1040 10.4
900 "3 1000 1240 1190 bl B £l 12.1
1050 | 139.8 1390 1340 120 205
belt weight
\l"lridth |:I-|_‘|)
1050 550 1390 1340 1150 50 | 6 1525 335
1200 138 G35 1540 1450 180 q3p0 180 | 230 185 415
1400 730 | 1790 1730 1510 77.0
1600 Lo, 830 1990 1930 250 779 280 [ 350 o a3 {5 a5 89.5
1800 €975 | 2280 2220 g0 2000 530 | 300 " 104.0
2000 1075 | 2480 2420 2200 1300
- L‘ -
- BI
~_ & _ & N D ik
APy, ; : | i
i — .
- " ..bq
- $ 4. " _‘: -F I
- - ¥ lh.‘,.- ¢
E .
S3= Carrying Idler unitemm

: : belt width
dimension -
1600 | 1800 | 2000
480 630 730 790 830 940 1100 1340 1550 1790
£ 120 160 200
TH 215 230 265 310 406 436

*1Q| X|£= D, L1, m, hy, E, C, n1, B1, axb®} Return Idlere= S Y&t

www.shrolltech.com



APIS ROLLTECH

HEAD PULLEY

L3

L2 S
L1
L
| B KEY WAY 5
| —
28| 3l | e
el ®® ~ .:I
3 8
TAIL PULLEY
L2

L1

@D

*HHAZ| Ot g. 28T 1FAE.

&l
m
40
it
m
&l
m
1L
oM

www.shrolltech.com




APIS ROLLTECH

10 § L 510

THREAD(Z &)

MR roller unit=mm
1
MR2301 42(1 2 )
1,
MR2401 48(13 ) 12 8 2
MR2451 50.8 L+3070% ES e
ZnE3a
MR2501 i
60(2")
MR2502 15 8 12

A7 HE2 L 42 FollFAE M55 HAE L

www.shrolltech.com




APIS ROLLTECH

[2
[n
13
m
o
Ot

ANZE JSEMY

IGINTDEE)
i
Y- /-~ TAP HOLE THREAD
v
!
| @)
w
Ball-Bearing roller unit=mm
dimension
{ Bearing
12 8 6201 ZZ
42, 48, 50 15 12 6202 ZZ
2y 12 400 420 404 8 8 6201 ZZ
60 15 12 6202 77
17 14 6203 77
PR 12 8 6201 ZZ
PHEI S 48, 50, 60 15 400 420 404 8 12 6002 ZZ
SCH¥ 21, 27, 34, 42, 60, 89 10~20 He 29

7 MEF2 L 14

T FoflFAIH L =53] ME L

www.shrolltech.com



APIS ROLLTECH

DR-R(STD)S

—

—

.-._ _ /—~ TAP HOLE THREAD
| © =
w
Sprocket roller ~=zz1 =& unit=mm
dimension
. Bearing
SINGLE 12 454 438 8 6002 ZZ
DOUBLE 6235, 30, 60 15 474 458 12 6201 ZZ
400 8 25 20 9 7.2 40
SINGLE 76, 89 20 434 | 438 14 6204 ZZ
DOUBLE ' 474 458

7 ME2 L AT GlFAE M55 HEE U

www.shrolltech.com




APIS ROLLTECH

/- TAP HOLE

Taper roller gjojz =2 unit=rmm
dimension
@D1/aD2
481
SINGLE
501
I 4
SPROCKETE s 2L 2o 12,15 | 400 = 12 8 25 20 9 7.2 40 6002 Z7

DOUBLE 519

ACCUMS SINGLE 448
DOUBLE 468

www.shrolltech.com




APIS ROLLTECH

BRACKET

\ / | $BB2808
1 $BB2812

| L
/
IO_ ’ O = ! SBB2508 | 6o | ax |82 | e | 1211 )
t - - sBB2512 | | 122 | BER

#d @

_2.34)

L R
SBF2S08 | » | 6 | 82 B a5
SBF2512 | _ | 75 |85 [ 122 .
SBF2808 ) 6 | 82
R 66 : : 16 | 85
SBF2812 | | | | 85 | 122 |
SBF3214 | 109 | 70 | 105 | 10 | 142 | 17 | 105
L *( )K|$E SBF3214 X|=¢.
o104
" A 2
' -
|
L]
- 8 & l
= L] '
! i R
4
& SBV4008 | e 6 ‘ 2 | .
SBV4012 85 | 122

www.shrolltech.com




N g 1 HL

www.shrolltech.com

—H_L . - . =

APIS ROLLTECH
. L

END CAPS

Ball Caster







|

__—-—-—--_

r*T

sty (VIS N :;'_;,@-z
e

e - el Bl i
-

Sl 'lll"'ldll = s

(E3) O S=E]| S




